N of reco track vs dxy

9] 1%} 123 0
x x < x
Q Q o (5]
8 8 g . g
5 5 519 S
3 £ g
£ s g
=
10° 8
10?
10
o Il U SaiNEw,
“E } HHEHHHW ‘HH” AVLooseNEW3iter | | | | | i |
e i 1 HH”\ 1T HlHIHI'HIHIH JIITHITE . B R TR T I R =
[
LA™ G MICTETTY” IR | I T GBI
1 WA y 1 MRt AR R HAAERAAN il i i [ N o
0%5-2 15 20 25 0 %5 20 25 0¥5-20-15-10 25 O¥530-15-10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 1%} 2] 0
x < X x
Q Q [=] (=)
8 8 g g
[ [} Q
£ s g
=
10° 3
9 ° - : f o o '
x x @ x :
-10 10 20 30 20 3 — 20 -10 0 10 0 30 0'—30 -20 -10 0 10 20 30

track dz (cm)

N of associated (recoToSim) tracks vs dxy.

N of associated (recoToSim) looper tracks vs dxy

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


